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A constable is 114 meter
behind_a thief. The constable
runs 21 meters and the thief
runs 15 meters in a minute. In
how many minutes the
constable will catch the thief?

T SeEdd TH I o
114 A S g1 & Aac
# seeeaad 21 #Hex 3R
TR 15 #Hex dizar 81 fras
e & FEedd IR A
q&hs oAI?

HA19 b) 18

)17 d) 16
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A constable follows a thief who is
200 m ahead of the constable. If
the constable and the thief run at
the speed of 8km/h and 7km/h
respectively, the constable would
catch the thief (in min)
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A policeman saw a thief at a distance
of 800m and started chasing. The
policeman can ran[53 kE)in 37
minutes and the thief can ran

in 41 minutes. Find the distance ran
by thief before being caught.

F gfawsdl T G # 800
Alex T & dwaw o HTAT P
T 8| IR gfawssdt 37 fAeTe
# 53 ﬁm"r AT AR 41 e :ﬁr
53 At a% dls @war & @
TFS o @ ggd 9N g@RT Telt

¢ gl Idse?
a)6700  b),3700
c) 7100 7400
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Points ‘A’ and ‘B’ are 70 km apart on a
highway. A car starts from ‘A’ and another from
o ‘B’ at the same time. If they travel in the same
A Jokm '& ﬁ(direction, they meet in but if they
travel towards each-other, they meet in one

hour. Find the speed of the two cars (in km/h)
Nl = TOkm_ J0km |7 ﬁg'u*aﬁr'd’r'wnaﬂw’rwm ey
j’f" Thy e §1 TF FR A AW At § 3R gEd
B § I WA AR § wE & Raw /A AmT
ok o a3 7w e § e AR
Suvm= =Tokw “,\,, q W— $I IR AT A §, A T T
| Iny wd § @ FR A afy wa W
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ueT )
30 Yo a) 20,30 40,30 ¢)30,50 d)20,40
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The distance between two persons A
and B is 600 km. When they start
moving towards each other they
meet in 12 hours. If A started
moving 5 hours after B, then they
meet in the next 10 hours. Find the

speed of B.
A 3 B F fig i ? 600 st

X Aaa & 8 A oy 7=
T

830 km/hr b) 25 km/hr
c) 30 km/hr d) 15 km/hr
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The distance between two cities A
and B is 330 km. A train starts from
A at 8 am and travels towards B at
60km/h. Another train starts from B
at 9 am and travels towards A at
75km/h. At what time do they
meet?

ar g A IR B F AT A g
330 Tl §1 v T gew 8 W
A ¥ Pwed ¥ 3T 60 Frel/Eer
¥ B #r 3R A Bl vH 3R e
9T 9 T B ¥ fFgadr ¥ 3k
75 freifEer @ A #Y 3 S T
59 a9 e 2

b) 10:30 a.m
d)11:30a.m




Train ‘A’ left Delhi to Ahmedabad at 8 am with a

8 A‘ speed of 40 kmph. An other train ‘ B’ left Delhi for
= . 2 — 3 Ahmedabad at 10 am with a speed of 60 kmph. If
D 24okm B A train ‘B’ overtake train ‘A’ at Baroda which is at a

0 distance of 2 /5 of the distance between Delhi and
I_Q& 6 Ahmedabad from Delhi. Find the distance between
Delhi and Ahmedabad?
A B Wné’réAwsaiz;%l;mphaﬁr%ﬁw#
fereell g HACGHEIG IATelT |
S 4o 60 WBW10ﬁ60kmphﬁm1§g
T y Rl & gASEE & AT AHd| 3R TR
}5\1/ B Y B A T e A T A & S A
Chy Z Mh ﬁ—eﬁ#ﬁ—eﬁaﬁtwﬁq&aﬂys
v Yo Rew, f g W Rud § @ Red @
eHemETE $1 gl AT FI?
a) 240 km b) 360 km ,5%00 km d)720 km
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A boy started from his house by bicycle at
10 a.m. at a speed of 12 km per hour. His
elder brother started after 1 hour 15
minutes by scooter along the same path and
caught him at 1: 30 p.m. The speed of the
scooter will be (in km/h):

Uh asHr 12 R ufq ge v afa @
Wwaﬁmﬁw#msﬁm#aﬁ
avmsaﬁ:a%mé#m"fﬁ#m
€dRT 1 ®< 15 ﬁﬂTQTWQITﬁWT
AR 1:30 FoF 37 gwg ATl FHe A

afa gl (Felt / ger &
a)4.5 b) 36 /82/3 d) 9
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The driver of a car, which is travelling at a
speed of 75 km/h. locates a bus 80 m ahead of
him. Travelling in the same direction. After 15
seconds, he finds that the bus is 40 m behind
the car. What is the speed of the bus (in
km/h)?

75 km/h &Y T F T J@ SR ST qTelah,
SY 80 m 3T AT f&em & I W &
99 F AT 8] 15 YHS 91 a8 3@ ¢
FaaITIR A 40 m IS g1 79
qarer (km/h #) fFast &2

a)44.2 b) 42.5 c)47.5 %46.2
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Three trains ‘A’ ‘B’ &'C’ left Delhi to Mumbai and
travel in the same direction at speeds of 40, 60
and 80 km per hour respectively. Train ‘B’ starts
two hours after ‘A’. If both trains ‘B’ and ‘C’
overtake train ‘A’ at the same instant , how many

hours after train ‘A’ , did trains ‘C’ start (Neglect
the length of the tralns) ?

oier YormE AB,C Reel & Ha$ & AT waer
40,60 3T 80 km #Y 7Ty A T@=T @l ¥ ¥
‘B IA AT 2 G 9I¢ Tadl g PR IA B
IRc A F tF & 997 W NS Ssdr &
AT CT AN T fRAT g A Te?
( $ TFETS B AHACHET fRAT FAT0)

3 b) 3.5 c) 4 d) 4.5
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Three trains ‘A’ , ‘B’ & ‘C’ left Delhi to Mumbai
and travel in the same direction at speeds of
40, 60, and ‘S’ km per hour respectively.
Travel ‘B’ starts two hours after ‘A’ and train
‘C’ start 2 hours after ‘B’. If both trains ‘B’ and
‘C’ overtake train ‘A’ at the same instant, Find
‘S’ (Neglect the length of the trains) ?

| e Yanf3ar AB,c RReeh & Ha$ & fT

AT 40,60 T ‘S km\h aﬁr

g3iR™TC WP T2 =

A g IR W e R c A’ &+
TF AT W S s & ar o F
AT ATT HAU? (I A qFAS D HASET

=) '
a) 80 b) 90 c) 100 %120
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Train ‘A’ left Chennai to Bangalore at 8 am with
speed of 45 kmph. An other train ‘B’ left Chennai
to Bangalore at 10 am with a speed of 60kmph.
A third train ‘C’ left Bangalore to Chennai at
11 am with a speed of speed of 80kmph. If all
three trains meet at the same instant, find the
distance between Chennai and Bangalore?

ar Yeenf3ar A 3B AU gag 8 T 10 A
FHA: 45 T 60kmph N TT ¥ I==1§ A
ek F T AFadr 3 & fwd o ©
g9g 11 s 80kmph & aIfa ¥ Forak &
Jeid & AT Pwedt §| 3R e Yeenizar
TH & TAT W Radt & O 98 7 F9e

&1 gl AT HX?
a) 400 km b) 600 km
¢) 720 km 760 km
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Train A running at 50 km/h leaves Mumbai for
Hyderabad at 6 am. Train B running at 75 km/
h also leaves Mumbai for Hyderabad at 9 am.
Train C leaves Hyderabad for Mumbai 10 am. If all
the three trains meet at the same time between
Mumbai and Hyderabad, then what is the speed of
train C if distance between Hyderabad and
Mumbai is 850 k
a’riam%mAaﬁTerW6aﬁa9aﬁ
50km\h @ 75km\h #Y Iy & HIS ¥ golEg
&1 3k Il B ¥ ¢ Wmaﬁ%maﬁ#
Hags ¥ fAv faswerd 3 R A Yot
UF & gAT W Rt % 3R =t aEr &
i A1 g1 850km e arc A arfar fraeh grf?
a) 60km/h b) 75km/h

AB80km/h d) 90km/h
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A train X departs from station A at 10. 00 a. m. for station
Lq X 60 50 Y “ B, which is 400 km away. Another train Y departs from B at

Q Oofm 1’2‘5-11.a.m for station A. Train X travels at an average speed of
A 210 qu E ‘l 60 km/hr and does not stop anywhere until it arrives at
<

station B. Train Y travels at an average speed of 50 km/

- r, but has to stop for 30 minutes at station C, which is

0 kms away from station B enroute to station A.

gnoring the lengths of the trains, what is the distance, to

&l 4 6X0l0 the from station A to point where the trains
_— cross other?

WW?'X',F&QHA#F&QH%Ba?rm,a’rﬁ:MO
km , gag 10 a9 faserdt B I ‘Y gag 11
SMD_HI ﬁ&ms#@eﬁAﬁmm@gw'x'ﬁaﬁaﬁ
T oY 60km\hr ¥ dUT 9% AT B dF Fer i ¢ TRl g
l
oy @Y 3itad 1fd 50km \hr§ W I8 3T FUAF C ®
30 e & T Thdl & Y Y T B & TAT A H
259 TE 100km 5T ¥] RUT A & Foaeht g T awtt e
Aroef?
a) 200 b) 230 c) 260 %Noneofthesi%




A train leaves station X at 6am and reaches
éﬂam station Y at 11am. Another train leaves
station Y at 8am and reaches station X at

each other?
A TH (St g 6 s TeAA X &
¥ Read ¢ 3K 998 11 9o VAT Y W
gt 3 o g9 8 o wXA V¥
= h . ¥ AFad & T AET 12 o T&xAT X’
q - Yl““‘“”wm?haﬁmﬁaﬁa’m‘rwm
5 T Y A e

a)8:30 am b) 9:00 am
9:20 am d)9:30 am

2
)2 Y 12 noon. At what time do the trains cross




ax(@+b= 1okmfh)
ga__%a +2b= 12 km/h
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From two places 60 km apart. A and B starts
towards each other at the same time and meet
each other after 6 hours. Had A travelled with
2 /3 of his speed and B travelled with double of
his speed, they would have met after 5 hours.
The speed of A in km/h is:
60 fFaY &y g 9 aF TUEI @ A I B TH
8 AT W TF gl AT IR fawea § 3k
6ﬁ$mw®%#ﬁW%l§TﬁA
B
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The ship Vikrant starts from a point P
towards a point Q at noon and at 1: 00 pm
ship Hemu starts from Q towards P. If ship
Vikrant is expected to complete the voyage
in 6 h and ship Hemu is moving at a speed
of 2/3rd of that of ship Vikrant, at what
time are the two ships expected to meet?

i s SteTer foig P @ fiig @ #
P T ¢ AHS e f6g Q F f@g P
1 WE TET 1:00 Tl AR
FId §] IR fshiad O IET 6 WE A
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Bhaskar and Neeraj start from one end of a
1000 m track while Deleep starts from the
other end. Bhaskar is 50% faster than Neeraj
and Deleep is 150% faster than Neeraj. If
Bhaskar meets Deleep in how long does
Neeraj take to meet Deleep?

50% SAET dof § 9 ReT AR & 150%
R el &1 21
53 # A amar § & AR g@Err fdw
F e & a9t g AT 94T FY

a)30s  b)35s //245 d) 26

-
o
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X, ¥ and Z walk at 6, 12, and
18 km/h, respectively. They start from
A towards B at 2, 5, and 7pm,
respectively, when Y meets X, Y sends X
back with a message to Z, when will Z
get the message?

X, YT Z FAA: 6,12F 18km/h &
AT ¥ IS & F FAM: 2, 5T 7
pm ElGT A ® B # IR TAAT AR

Y

S | STV, X Y PBerar & ar T
X @ TF ool & T Z i b
it &S a1 §| Z F T§ WA
ﬁ-FI?TEIGTWOHI'?

a) 9:45 pm b) 9: 00 pm
/8: 45 pm d) 9:15 pm
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A and B start travelling in the same
A B direction at 8 km/h and &km/h,
. ° v respectively. After 4 h, A doubled his
220 20 60 speed and B reduced his speed by
< — . 1km/h and reached the destination
Ll hy Shr together. How long did the entire journey
last?
A B Aaﬁtawﬁﬁnﬁﬁmr:z;k%
d 13km/h delell AR
S 6 12§y w2 am A st afr @ awan
' ¢ 3k B 3wl afd & 1km/h
D M =B  acih owar ¥ 3o1 & awit v @
R L o Wl aw w@ ¥ A g 9w
o e aTell AT 9l

a)3h b)6 h
%h d)12 h
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Two brothers started walking towards each other
from two different cities which are 110 km apart.
Their initial speed was 5 km/hr each. After every
hour, the younger brother decreased his speed by
1 km/hr due to tiredness but the elder brother
increased his speed by 1 km/hr. In how many
hours, from starting the journey, they will meet
each other.

a)9h 10 h c)10.5h d)11h
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Two trains P and Q starts from station A and B and travel
towards each other at speeds of 50 and 60 km/h
respectively. The distance between A and B is 1100 km.
A housefly was sitting on the engine of train P. As the
train started, it started flying towards the train Q and
touched the engine and started flying towards train P. It
touched the engine and then moved towards train Q. It
kept on doing so till it is crushed between the trains. Find
the distance travelled by the housefly before dying if it
was flying at a speed o

& & P 3R Q ®AF A B @ e 50 3R 60
fReiraer f afa ¥ aﬁraﬁfﬁmﬁ%maﬁrs

& dg 1100 km g | U AFE ST P & Foldd W
38 ot v T F Tad & 39S ot TA Q F WEH 3T
Y€ F AT | 98 &7 Q & 91T HT § FT AVH ToT P HY
Wnﬁmmagﬂ'@?fﬁ%‘sﬁgaaﬁga#aﬁa
AT T4 PR 70kmph af & 33 W oA ar sansit
mﬁmﬁ ag fi?

a) 1100 km % 00 km
c) 550 km d) Can’t say
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